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Resistors R32 82k Bl C29 0-04uF  Bi Transistor Table
R1 68k Al RVI 20k Al C30 200uF B2
R2 18kQ Al RY2 10k Al C31 2000pF  BI Transistor Emitter | Base [Collector
R3 22k Al Capacitors C32 64uF B2 4% V)
R4 180Q2 Al Cl 39pF B2 C33 0-1uF Bl
RS 5602 Al C2 15pF A2 C34 200pF B1 TR1 BE19S 56 49 0-2
R6 82k A2 C3 20pF A2 C35 0-01pF Bl TR2 BE194 65 5-5 i-5
R7 12k A2 C4 20pF Bl C36 0-02urF B2 TR3 BE194 51 4-3 0-1
R8 8200 Al Cs 180pF Bl C37 0-0IpF B2 TRA4 BC108 5-4 4-4 0-1
RY 27080 Al C6 215pF Al C38 0-02uF B2 TRS ACI128 0-03 Q15 9-0
R10 2:2kQ A2 C7 0-02uF Al TR6 ACI28 403 015 9-0
R1l 6-8k2 Bt C8 208pF A2 Coils and Transformers TR7 BC108 62 51 0-8
R12 12kQ2 A2 () 20pF A2 L1 —
R13 1k Bl C10 025uF Al L2 [ B2 -
R14 1000 B2 Cl1 0-01uF Al L3 . B2 Quiescent current 18nrA.
RI15 39Q B! Cl12 0-01pF Al L4 . AD
RI16 470Q B! C13 360pF Al Ls Al TRANSISTOR ANALYSIS
RI7 18kQ B2 Ci4 0:04uF Al L6 A2 . . ) .
RI18 18kQ2 Bl Cl5 64uF Al L7 0 B Transistor voltages given in the table in
R19 1kQ B2 C16 0-1uF Al T1 — Al col. 1 were obtained from information
R20 39kQ Bl C17 0-04uF Al T2 Al supplied by the manufacturers, they were
R21 1kQ BI Ci18 360pF A2 T3 — B2 measured under no signal conditions on a
R22 470Q B1 C19 0-04uF A2 T4 — Bl 20,000Q/V meter, and are negative with
R23 27kQ Bl C20 0-04pF  AZ Ts ~ B t o chosis’ T A itohed
R24  VA1040  BI a1 O1pF Al respect to chassis. The receiver was switche
. . to m.w.; “CAR” press-button depressed, and
R25 1002 Bl c22 0-04uF B2 Miscellaneous . ; ; y .
R26% IMQ B1 C23 360pF Bl sts1 ¢ a single point co-axial plug was inserted in
R27 220 BI C24 0-0luF Bl o8 N the external aerial socket.
R28 10082 Bl C25 0-01pF Bl DI AAII—‘; A2
R29 10kQ2 Bl C26 4uF Bl D2 AALLD Bl
R30 18k B1 C27 2:-5uF B2
R31 47kQ B2 C28 0-01puF Al 1 Omitted from larer models, 5
CIRCUIT ALIGNMENT c Eg
Equipment Required.—An r.f. signal genera- 2. _Terminate dummy acrial with a single vea
tor amplitude modulated 30 per cent at point co-axial plug, and insert plug in jT3
400c/s; a standard dummy aerial, and a external aerial socket. Switch receiver to re-z _
non-inductive trimming tool. m.w., and depress ‘“‘CAR™ press-button. ) E
Switch on signal generator and allow 15 Tune receiver to 500m, and feed in via H
minutes to warm up. Set volume and tone dummy aerial a 600ke¢/s aam.  signal. @
controls to maximum. Throughout the entire Adjust L5 and L4 (slide along ferrite rod), e 3
alignment hprocedure attgnuate the input for maximum output. A
signal such, that the audio output is just . . . <o
audible, thereby preventing the alignment 3']_;[‘6'6‘]5 receiver to ]Zogn(} ‘de Fee’d In 4 J 5
peaks being masked by the a.g.c. action. £ /s a.m. signal. Adjust C9, and €3 s <
1.—Switch receiver to m.w., and tune to low Or maximum output. ‘ ~+
frequency end of band (tuning gang at 4.—Repeat operations 2 and 3 for optimum | 2
maximum capacitance). Check that cursor calibration and tracking. Seal L4 on < N
is aligned w1thfdatum mgrks at l(()iw fre- fernte rod, also capacitors C9 and C3. ‘ = £tk z
quency end of scale. onnect dummy Qs . i i 66 . o ED 5
aerial to junction of €7, and $3, and feed 5 r%;xgl_tghtggﬁe;ve{} tf’dl;w",.r.nfimm"l CA,R /; < 57 i 2
: - . kc/s a.m. signal. P utton in the depressed position, and 1 I 2 pe
in via dummy aerial a 470kc g tune receiver to 1,400m. Feed in via the P “
Adjust T1, T2 and T3 in that order for R : : 1 A
maximum output. Disconnect dummy dummy aerial a 214ke/s a.m. signal, and \/\ =N T
nerinl adjust C4 and L2 (slide along ferrite rod) c oM 1 —
: for maximum output. o L ‘
6.—Seal L2 on ferrite rod, and disconnect 7 o 1<
PYE - 1373 signal generator. ;_O %mﬁ
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